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MCQs:
1. Write additive inverse of — %z
(@)= (b) 13 (©)-13 (d)0
2. Find the multiplicative inverse of -17
(a) — = (b) 289 (c) -289 (d)-17
3. Multiply :—aby the reciprocal of — 1?_5
16 16 3 13
@)-33 (b) 3 (©) ¢ d) -3
4. Fill in the blanks: has no reciprocal.
(a) One (b) Zero (c) Two (d) Three
3. Li is the reciprocal of
6 13 6

@) (b)=—= (©) =13 (d) 0
6. Find the rational number between g and %

7 7 5 6
(@) —5 (b) 37 (c)3 (d)3
1. Fill in the blanks:
(1) The product of a positive number and its reciprocal is -
(11) The rational number ____has no reciprocal.
(111) The reciprocal of the reciprocal of a numberi1s )
(iv) The rational number ~~ 1is neither positive nor negative.
(v) ~____1s the only rational number which is equal its additive inverse.

Subjective Questions:

al. Write the additive and multiplicative inverse of each of the following
rational numbers.

2 -1 _ -9
a. H b. T C. 1—1" d.-4 e.-16
. _ 3 __-15 =7 =27
Q2. Verify x Xy =y X x when a) x=;, y=— b)x=—,y=—-

Q3 Using appropriate properties find:

: s [ o . e |
(i) S e T Gt ¥ ik
< e | 2 36

2 < >

(i) :x[ij_lxi+LX:

> —7 6 2 14 5

Q4. Verify —(-x)=x for i) x= _?3 ii) x=§
Q5 Multiply 1% by the reciprocal of I—Z

-7

Q6. From the sum of 2 and — subtract the sum of = and
. 5 25 5 25

Q7. Find the multiplicative inverse of (_?4 = g)

8. -
Q Divide the sum of ?3 and E by their product

Q9 Find ten rational numbers between %} and _?3
Q10 Arrange in ascending order
14 79
3'"5 79’5



Case Study
A dog buries three bones in the backyard. The first bone is buries -2%
feet, the second bone is buries —5% feet. And the third bone is _Tsofeet.
. . . 1 1 —30
i) Simplify : _25)(_53 )(T

i) How much deeper is the third bone buried from the first bone?

Assertion-Reasoning MCQs

Select the correct answer to these questions from the codes (a), (b), (c) and (d) as given below.
(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is not the correct explanation of A.

(c) Alis true but R is false.

(d) A'is false but R is true.

. 5,1_6. :
1. (Assertion): - + - = lsa rational number.
(Reasons):Rational number follow commutative property
. . . e . . . .3 3
2. (Assertion): % is a rational number and if O is added to it there is no change in result i.e. S +0= S

(Reason): 0 is the additive identity.

Answer Key
MCQs: 1. (a) 2. (a) 3. (a) 4. (b) 5. (a) 6. (b)
Fill in the blanks 1. (i) One (ii) Zero (iii) One (iv) Zero (ii) One

Subjective Questions: Q3. 2 Q5. _9—916 Q6. _?4 Q7. ;—s Q8. %9
-11 -4 -7 9
QWO 5553

Case Study: (a) 967 (b) -5



